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1. The degree of the polynomial (4x—3) is
(i) 0 (i) 2 (i) (-2) (iv) 3 (v 1

2. The degree of the polynomial(552+3a+4) is

(i) 1 (i) 4 (i) 2 (iv) 3 (v) (-1)

3. The degree of the polynomial(5f3—9f2—7f) is

(i) 6 (i) 1 (iii) 2 (iv) 4 (v) 3

4. The degree of the ponnomiaI(—7y5 +y3 +9y2—5y+1) is

(i) 4 (ii) 8 (iii) 5 (iv) 2 (v) 6

5. The coefficient of term kin polynomial (5k+4) is
(iy 7 (i) 4 (i) 6 (iv) 2 (v) 5

6. The coefficient of termzin polynomial(522 —2z-2)is

(i) -2 (i) -3 (i) 0 (iv) -4 (v) -1

7. The coefficient of term yin polynomial(—gy3 +4y2 +3y—-2)is

(i) 4 (i) 2 (i) 3 (iv) 5 (v) O

2

8. The coefficient of term n3 in ponnomiaI(—4n4—6n3+n —n—=9)is

(i) -6 (i) -5 (iii) -3 (iv) -7 (v) -8
9. Which of the following algebraic expressions is a monomial?

(i) (ZB+622+2) (ii) (82%=5) (iii) (=32) (iv) (-62%+673+622—2+3) (v) (*-672+422-32-3)
10. Which of the following algebraic expressions is a binomial?

(i) (=56%=7b%2-9b) (ii) (8b*—9b3-5b2+6b+9) (iii) b* (iv) (=5b3-9)

(v) (—b*—6b3+7b%-5b+5)

11. Which of the following algebraic expressions is a trinomial?

(i) (9a%=3a+2) (i) 8a (i) (4a%-3a3—-4a%2+6a-2) (iv) (4a%-4a3+8a%+5a+7) (v) (4a3—-6a2)

12. Which of the following algebraic expressions is a constant polynomial?

() (7644283 +92+6t+6) (i) (=7£4+7£2) (i) (=9£2) (iv) (=1) (v) (28 +2£2-5¢)
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Which of the following algebraic expressions is a zero polynomial?

(i) (6/4+9P+3R—-8F=3) (i) (5F4=2F£) (i) (6FA=P = (iv) 0 (v) (—6f

The degree of polynomial (4vw+v—-2w-7)is

(i) 1 (i) 2 (i) 3 (iv) (-1) (v) 4

The degree of polynomial(—3fg2 —4fg+g-3)is

(i) 4 (ii) 5 (iii) 1 (iv) 3 (v) 2

The degree of ponnomiaI(602p2 q2 —402,02q—502q+802 +4p)is

(i) 7 (ii) 3 (iii) 5 (iv) 6 (v) 9
The degree of ponnomiaI(x3yz3+5x3yz2 —6x2 72 —8xy3z2 —9xyz3+3xy+4xzz) is
(i) 4 (ii) 6 (iii)) 7 (iv) 8 (v) 10

The coefficient of term h/in polynomial (=8 i+ h+3/+8) is
(i) -9 (i) -7 (i) -11 (iv) -5 (v) -8

The coefficient of term t2 uin polynomial(—4t‘2u+4tu2 —7tu—-8t)is

(i) -4 (i) -5 (i) -6 (iv) -1 (v) -3

The coefficient of term w? in polynomial (2 w? -8 szy— Twx? -5 W)(y2 +wxy) is

(i) 1 (i) 3 (i) 2 (iv) 4 (v) -1
The coefficient of term Ain polynomial(7g:'3h3/3 +6g3h/+9_q2 h2 2 —4g2 +4h3/3—2h+/3) is
(i) -1 (i) -3 (iii) -2 (iv) -5 (v) O

Which of the following algebraic expressions is a monomial?

(i) (—9n3p3—5n3+n02p3+302p3) (ii) (9n303p2—9n20p—20—4p2) (iii) (—4n3p2—3n202p2—n20p)
(iv) (n2p3=9n0) (v) 3nop3

Which of the following algebraic expressions is a binomial?

(i) (=7Pn3=3Pmn-9imn?) (i) (-=92m3n2+6/An-8mn3=3mn) (i) (-=3Pm3+7n3)

(iv) (—4Pm?n+4Bn?+i+4mn) (v) (-8Pm?n)

Which of the following algebraic expressions is a trinomial?

(i) (—2de?R) (i) (4dPe3P-2de2R-4de?P-3) (ii) (-5d°e?f+d?e3F-3e3+ef)

(iv) (—4d?e3+7de3f—7de?f (v) (—4d2e3f-9h



25. Which of the following algebraic expressions is a constant polynomial?

(i) 2w3yP+2ulxy3—5wxy?) (i) (=7) (i) (6W2x—6wy+6w+5x3) (iv) (—5wx2y?)

(v) (6wy3—5 wy)



Assignment Key

1) (v) 2) (iii) 3) (v) 4) (iii) 5) (v) 6) (i)
7) (iii) 8) (i) 9) (iii) 10) (iv) 11) (i) 12) (iv)
13) (iv) 14) (ii) 15) (iv) 16) (iv) 17) (iii) 18) (v)
19) (i) 20) (iii) 21) (iii) 22) (v) 23) (iii) 24) (iv)
25) (i)
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